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(1) What is nondisjunction meiotic error? {[1}Z8 nondisjunction meiotic error ?]
(2) Please give an example [ZHE—H].  (5%)

Please briefly state the process of oogenesis? [3# i BE9HLIE cogenesis AETE]  (5%)

Please describe the three phases of fertilization in detail (including all reactions). [FF5FANASEHILIF

FOEETAY 3 ER (RASTERRE] (10%)

(1). Please name the area circled. (Bl BIEIE G S

{A?](2). Please describe the differentiation of this area and its molecular regulation. [ZF#U I E S

This is a fieart of a 28-day embryo.

Please name the areas from (1) to (5). [ -EHZE (@ 28 RICEM LR, FHHB () £ ) BEY
(5%)

D

Please briefly describe the septum formation in the bulbus. [5HH BIRGEGITL L ERRIGSITEARE] (5%)

Please name the most defects of the spinal cord resulting from abrormal closure of neural folds

(newral tube defects) [FRMLIE B 1 HIEE N EE A SANEMEEHEREWL]  (5%).

Please describe the development of cerebellum in the metencephalon. [FERUILATFATEAE_EAG/ NS
HFHEAVEE] (5%)
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9. BB BHEFHIERER - FHEETIIE - 20%, £/ 4%)

(DApeERLT
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QyERED
EEW SO E - BEFRIRTHERA(Anteroposterior axisyZEIRATE LR (ZPA)RYER] » EE
R AR IR B Rt - (B LATIRAEEE 4 R A sonic hedgehog (SHH)AY
FI ? L SHH ERAGEERIRTREZ —BERET -

()ififgeisin -
[ (primitive gut) IBE < IS E7Elf 3 £ RAO T REH —EERE 7 ? JoREh ey
i

(DFFREE LD -
FTBE 2 &R T % FGF2 f1 BMPs RS 2841 Pz iFlliE(hepatocytes) G E 4l 2 51
ZHEREED N ZEIR A ER ?

(S) BRS¢
B NSV - o~ B~ 7 ~ 8 cells %?JZ%%@E%E?@J%L@%IZ?%%&“

EER 2 M a cell EZAFZRE?

10. Piease write the abnormality ( teratologie ) term in English. (15%, each is 3 %)
(1)Fused digits:
(2)Shortened digits:
(3)Partial or complete duplication of one limb:
{4)Permanent fixation of a joint:
(5)The abnormality of gross brain is none:

1135015 TR - (15%, &/NE 5%)
(DAABHEAERETMR ? 3%) » AZBIREIHEREEFELR 2 2%)
(2)Ureter < HERZRETH 7 (3%) » MEIKE (B 7 (2%)
O)FESAEFEAINARE fIER ? (2%) » LM G=03EE © (1%) > ABE{TE 7 (1%) »
RAREIEMER 7 (1%) -
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